FhLLLE noEn

g2 05 () R25

[

EC OB &

1,h:0@kg,§@§@1%@%@§%@ﬂo
% flath) = flo+ f(a) h

v

BIE  cos(ath)

(cosx)) =—sinx XV, h=0DL X

cos(at+h) = cosa — sina X h

HAED

MO sin(a+h)

5 E@ tan(a+h)

2. x=0DEE, KOAD1KDIEBAE EN.
¥ flx) = f0)+ f(0) x

nwn 7w

i er

f=e*L+2L, fx)=e"
flo=e'=1 , 7(0)=e" =1
FoTax=0mntx e =1+1xx=1+x

b A
[2]

-~
31

<

1

@ 1+ x

HAEND

HEO®  log (1 + x)

BH Y

3. x=00Ex, (140 = 14+px % & 1F,

=04 e T B e W= (}fjc? 77777777
L AU
ShBE f) =0T 0 x It A LT
(1+x)p_

4. x =00 ¢ x, (1+x)p'=. 1+px75’41?”iﬁﬁabf, /E

el

@1&@%@%%%ﬂo

L&

D=

PR A
BE V1 + x
1
Vi+tx =(1+x) 2 XV
xE0DEE, Vitr 51+ —x
bW 3
[=] %@ 1+ X
RO Y1+ x
k-4 bl A L B b &
. RO AE O PUE A RO K,
PR A
B E V26
xE0DEE, Vitr 51+ —x
V26 =v25 + 1 =25 1—+—é;
:5(&%%»—5+a1—51
bW
g /101




FhLLLE noEn

g2 s @ RE

1. x=00D & X, ?E@%é@ﬂ%@%{ﬁgé%?’ﬁm
flo) = f(0)+ 1(0) x

nwn 7w

BIED sinx
(sinx)' = cosx £V,

sinx = sin0 + cos0OxXx = x

Zu

F'n%%@ cos x

I
BIEQ e*
(ex)': er kv

=+ exx =1+«

b

=] %@ e ¥

>~

?’%‘J%ﬁ@ v1+ x
(\/l—i-x )'— 2;&@

1+ x
VIFxr=svVIto 4+ — 2 =14 Ly
2v14+ 0 2

bHATE N 3
n%@ 1+x
bHATE N
i B @) 1

1 —x

oF L&

WD 5 o 3 L
0

>
IS
5+

7T

180°

v

il  sin 31°
(sinx)' = cosx XV,

h=0m& & sinlet+h) = sina + cosa X h

. T T
sin 31 = sm( 6 + —180° )

= sin S cos L =
| 6 6 180°

= 0.5000 + 0.8660 x 0.0174 = 0.5150

HA D

1178 cos 59"

3.

B

R T

%%@ /99

v99 =v100 — 1 =+100 1/ l—ﬁ

= 10(1 Lx—Ls )f 10 — 0.05 = 9.95

HATEN

HEO v24
:hb\t"é ]_
%] 5 @ 19
11 1
49 50 % 1




FhLLLE noEn

g2 s © R

ek L? t ?/\/ r L? 2< ek L? ‘g L b B{:
1. x=00¢E, ROKXD 1 KoLK ZEN, 2. kOXOFTEEZ KD K,
S@) = 10+ 1 (0) x r . ooime Y3 = 08660
v E 180 2
1 E v En 3
PO tan 1 B cos 29
r_ =
(tan 2) cos? x =9 (cosx)' =—sinx KLV,
tan x = tan 0 — cos120 Xx = x h=0»& & cos(ath) =cosa — sinaxh
bA ° T L)
D  sinx cos 29 COS( 6 180
. T iy T
= cos o + sin 6 X 180°
= 0.8660 + 0.5000 x 0.0174 = 0.8747
b R
u H sin 61
nw e
i (1+x)"
{(l—i—x)n}l: n(1+ x)nil X
(1+x)"=(1+0)"+n(1+0)" "xx
=1+nx
bAEN 1
HE® Vitax =(1+x)2
oF L? ? AL bH B{:
3. RoXDOEPEZEZ KD L,
v rEn 30
HIEO  1.0001
1.0001*° =(1 + 0.0001)®
= 1+ 30 x 0.0001 = 1.003
nn En 3 - b 10
FlIEG® V1 + sinx M@ 1.0003
' _ 2
(\3/1 + sinx) = %(1 + sinx) 3% cos x
_2
V1+sinx = 1+%(1 + sinO) 3 Xcos 0 Xx
=1 +%x
baZn
HE® 1+ sinx
nw e
BIEQ /102

mm:ﬂm+2:mm\m+ﬁ%

1 2
1M1+2xm”

=10 + 0.1 = 10.1




